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Section A {6 x 1 mark)

Choose the correct answer.

Write its number in the brackets provided.

1. Which one of the following sets of numbers has all ifs numbers

greater than 6967

() 651, 516, 783, 936
(2) 716, 864, 961, 206
(3) 624, 935 650, 619
(4} 390, 945, 636, 893




212 lessthan 405 is

193
213
203
613 (

Which one of the following statements is true?

(2)
(3)

Line AB is the shortest.
Line CD is shorter than Line GH.
Line EF is longer than Line AB.

Line AB is as long as Line GH. (




‘-'4. Which one of the following is the same as 3x3 ?.
(1) 36 =+ 3
(2) 36 + 4
(3) 36 + 6
(4 36 + ¢

3. The mass of the ball is a.

(1} 50
(2) 150
(3) 350
(4} 400



. 6.

Jane bought 4 apples for $2
The cost of 2 apples was $

$2

Secflon B {5 x 1 mark}

Read the queslions carefully.
Wiite the correct answers in the spaces provided.

7.

Fill in the box with the correct answer.

7 1 &
- 5 5
1 9 1




8.

Circle 32 teddy bears info groups of 4.
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I pliemer 1. screw driver

The screw driveris

cm longer than the drilt bit.




10. Thefishis g less Than the oyster.

11. Fill in the blank with the cotrect answer..

SRR A AT
The value of * is




Section C {1 X 4 marks)
Read the questions carefully.
Show your working and number sentences clearly.

12. Sam has $400.
He has $65 more than- Ali.
{a) How much does Ali have?
(b) How much do Sam and Ali have allogether?

(a) Alihas $

(b} Sam and Ali have § alfogether.

Working

The End

7
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Q9) 7

Q10) 120
Q11) 10
Q12)a) $400-$65=$335
Ali has $335.
b) $400+$335=$735

Sam and Ali have $735 altogether.
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